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'ftilft BTrrsr& n-d' *r ffqer crris * sr-qfu t-d' + ffiq

deri + fi-fi cr rq wr * ?

9. Write short notes on any two of the following :

ffiR'{d } t ArA * w qt*< €qFrd hfrq:

(i) Confidentiality

rM{dr

(ii) Assisted Reproduction

(6TIFF' IIFFT

(iii) Autonomy

EtT.tit I

(iv) Euth anasia

EBit{
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l. Write your Roll No. on the top immediately on receipt
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2. Attempt any 5 questions.

3. All questions carry equal marks.

4. Answers may be written either in English or in Hindi;
but the same medium should be used throughout the

paper.
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2. +{oxl-rfrfrsl
3. <rft yr<) * a6 tqta ir
4. E{ I{r;rq?r w vtt q+ff qr Efr ffi \'fi.rilcr i Rqt ur

mr* *, tfr-'r qlft ffi 6r uftfi vo ff st{r qIBs r

Define Bioethics. How is it different from Medical

Ethics'l Discuss in detail.

ffifto-<r + cftnR-d dfuv r qa frfr.-{r tfu+-dr + fr(
ron ft-q * ?

Is personhood a matter of degree? Discuss with

reference to Michael Tooley's article, "Personhood".

wr qke Bff d crd * ? qrso-q qff t +ce, ,cfrEs,

+ tfll + s-ql 6t r
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4. 'Is killing worse than letting diel, Exumine this

statement.

'q1 qp.4 qt w+ t $ qa-fl * ?' gq q'qr 6 fr of r

5. .Critically evaluate the arguments against Surrogacy.

fu{rs d dq + fudrm ed qr qqr*q-<rs+. Tsr6'{ qi I
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Examine the arguments for the moral permissibility of

Abortion.

What is Consent? How important is consent in

healthcare?

vaqR wr B ? <nq +sr n €cfr ffi qr€qd * ?

Discuss the ethical issues that arise due to Cloning.

dftr (uqvrw fqR q''.{r) * q,<ur ysq *+ sr} +fu+-

3qd w v-ut dtuq r

What is the Value of Life with special reference to

the 'Anti Ageist Argument' and the 'Fair Innings

Argument'?
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